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5/(# of Boston Celtics championships - # 

of Los Angeles Lakers championships) 
We WILL be turning in warmups this week!!! 

1) Give a reason why one of the numbers doesn’t belong. You must 

come up with at least one reason for all four numbers. 

Created by Khamari Dunlap 

TURN IN QUIZ CORRECTIONS 

 They are going into Infinite Campus TODAY. 

 

 If you don’t turn in corrections, you must still turn your 

original quiz back in. I will enter your original grade. 

VOLUME QUIZZES 

 You may still retake them until Friday!!! 

REMINDER 

 Line designs are due Wednesday. 

 

 You may turn them in anytime. Make sure you 

have your name on the back, and be sure to turn 

in your rubric as well. 

THIS WEEK: 

 “Rearranging” Equations (Solving for a variable) 

 

 

 Quiz on probably Thursday 
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Solving Equations with More than One Variable 

Objective:  

 

Write an equation: 

 Start with any number.  

 Subtract 10. 

 

s – 10 = e 

 
 If I tell you the ending number, how do you figure out the 

starting number? 

s = ? 

Write an equation: 

 If 𝒔 − 𝟏𝟎 = 𝒆, 

 

 

then 𝒆 + 𝟏𝟎 = 𝒔 

Write an equation: 
 Start with any number. 

 Multiply by 2. 

 Add 1. 

 

2s +1 = e 

 
 If I tell you the ending number, how do you figure out the starting 

number? 

s = ? 

Write an equation: 

 If 𝟐𝒔 + 𝟏 = 𝒆, 

 

 

then 
𝒆−𝟏 
𝟐

= 𝒔 

Write an equation: 
 Start with any number. 

 Divide by 2. 

 Add 10. 

 Multiply by 3. 

 

𝒔

𝟐
+ 𝟏𝟎 ∙ 𝟑 = 𝒆 

 
 If I tell you the ending number, how do you figure out the starting 

number? 

s = ? 
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How could you go from: 

𝒔 − 𝟏𝟎 = 𝒆         to 𝒆 + 𝟏𝟎 = 𝒔? 

 

 

𝟐𝒔 + 𝟏 = 𝒆         to        
𝒆−𝟏 
𝟐

= 𝒔? 

 

 

THIS SLIDE IS IMPORTANT 

    4x 

+ 2x 

 

    4 

+ 2 

 

    4 

+ 2x 

 

4x = 2x + 20 
2  2 

2x = x +20 

Does the same 

solution still work? 

Where’s the problem? 

4x = 2x + 20  
2  2      2 

2x = x +10  

x = 10 

What is the solution 

going to be? THIS SLIDE IS IMPORTANT 

If you divide both sides by a number, you don’t 

just divide like terms – you divide EVERYTHING! 

 

? 

2 smiley face = 6 stars + 4 clouds + 2 hearts 1 smiley face = 3 stars + 2 clouds + 1 heart 

Solve for y: 

1.   𝟒𝒙 = 𝒚 − 𝟓 

 

2.  𝟐𝒚 = −𝟒𝒙 + 𝟖 

 

3.  𝟖 + 𝒚 = 𝟑𝒙 

 

4.  𝟑𝒚 = 𝟐𝒙 + 𝟑𝟎 

 

5.  𝟐𝒙 + 𝒚 = 𝟔𝒙 − 𝟕 

 

 

 

Solve for y: 
1.   𝟒𝒙 = 𝒚 − 𝟓   𝒚 = 𝟒𝒙 + 𝟓 

 
2.  𝟐𝒚 = −𝟒𝒙 + 𝟖  𝒚 = −𝟐𝒙 + 𝟒 

 

3.  𝟖 + 𝒚 = 𝟑𝒙   𝒚 = 𝟑𝒙 − 𝟖 

 

4.  𝟑𝒚 = 𝟐𝒙 + 𝟑𝟎  𝒚 =
𝟐

𝟑
𝒙 + 𝟏𝟎 

 

5.  𝟐𝒙 + 𝒚 = 𝟔𝒙 − 𝟕  𝒚 = 𝟒𝒙 − 𝟕 
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IMPORTANT CONCEPT: 

You are NOT getting “y = number”.  

You are just “rearranging” the equation. 

One VERY important situation where 

solving for a variable is important… 

 Graph the equation 𝒚 = 𝟑𝒙 − 𝟓 

 

 

 

 

 

 

 

 Graph the equation 𝟐𝒚 = −𝟒𝒙+ 𝟖 

 Graph the equation 𝟒𝒙 = 𝒚 − 𝟓 

 

SOLVE FOR X: (2-step) 

  

5x – 10y = 35 

 

5x – 10y = 35 

 

We need x by itself. So…we need to get rid of 

EVERYTHING else on that side. 

That’s the -10y… …and the 5. 

  +10y     +10y 

5x = 35 + 10y 
 5    5        5 

 x = 7 + 2y 

TWO-Step Ones… 

 If I need to solve for a here, what do I need to get rid of??? 

 

 𝟒𝒂 + 𝟏𝟐𝒃 = 𝟓 

-12b      -12b 

4a           = 5 – 12b 

4       4     4 

     a = 5/4 – 3b 

TWO-Step Ones… 

 If I need to solve for n here, what do I need to get rid of??? 

 

 𝟏𝟐𝒎− 𝟑𝒏 = 𝟏𝟖 

-12m                  -12m 

-3n = 18 – 12m 

-3 -3    -3 

     n = -6 +4b 

Are we ready for 2-step ones??? 

1. Solve for y:    𝟐𝒚 + 𝟖 = 𝟏𝟒𝒙 

 

2. Solve for y:     𝟑𝒙 + 𝟒𝒚 = 𝟏𝟐 

 

3. Solve for a:    𝟐𝟒 = −𝟐𝒂+ 𝟒𝒃 

 

4. Solve for :     3 – 7 = 12   

𝒚 = 𝟕𝒙 − 𝟒 

𝒚 = 𝟑 −
𝟑

𝟒
𝒙 or 𝒚 = −

𝟑

𝟒
𝒙 + 𝟑  

−𝟏𝟐 + 𝟐𝒃 = 𝒂 or 𝟐𝒃 − 𝟏𝟐 = 𝐚 

 = 𝟒+
𝟕

𝟑
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Exit Ticket: 

1. Solve for a:  𝒂 − 𝟒 = 𝟐𝒃 

 

2. Solve for y:  𝟑𝒚 = −𝟒𝒙+ 𝟗 

 

3. Solve for p:  𝟐𝒑 + 𝟔𝒒 = 𝟖 

 

 

NO HOMEWORK 

 

 


